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QUESTION 1

Given:

public class Test {
private String[] strings;

Which two constructors will compile and set the class field strings? (Choose two.)

A. public Test(List<String> strings) {
this.strings = strings;

1
B. public Test(String... strings) {
strings = strings;
b
C. public Test({String... strings) {
this.strings = strings;
}

D. public Test(String strings) {
strings = strings;
}

E. public Test(String[] strings) {
this.strings = strings:;
}
A. Option A
B. Option B
C. Option C
D. Option D

E. Option E

Correct Answer: AE

QUESTION 2

Given: What is the result?
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public class Tester {
public static void main(String[] args) {
String s = "this is it";
int X = s.indexOf("is"):;
s.substring(x+3);
X = s.indexOf ("is"):;
System.out.println(s+" "+x):;

}
Aisitl
B. An IndexOutOfBoundsException is thrown at runtime.
C.isit0
D. thisisit 2
E. thisisit 3

Correct Answer: D

- | L J .

Console 1 * Console 2 *

this is it 2

Completed with exit code: 0

QUESTION 3

Given:
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import java.io.FileNotFoundException;
import java.io.IOException;

public class Tester ({
public static void main(String[] args) {
try {
doA() ;
} //1line 1

}
private static void doA() throws IOException, IndexOutOfBoundsException {

if (false) {

throw new FileNotFoundException();
} else {

throw new IndexOutOfBoundsException():
}

What must be added in line 1 to compile this class?

A. catch(lOException e) { }

B. catch(FileNotFoundException | IndexOutOfBoundsException €) { }

C. catch(FileNotFoundException | IOException €) { }

D. catch(IndexOutOfBoundsException e) { } catch(FileNotFoundException e) { }
E. catch(FileNotFoundException e) { } catch(IndexOutOfBoundsException €) { }

Correct Answer: C

QUESTION 4

Given: Which two changes need to be made to make this class compile? (Choose two.)
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public interface API { //line 1
public wvoid checkValue (Object wvalue)
throws IllegalArgqumentException; //line 2
public boolean isValueANumber (Object wval) {
if (val instanceof Number) ({
return true;
jelse {
try {
Double.parseDouble (val.toString()):
return true;
}catch (NumberFormatException ex) {
return false;

A. Change Line 1 to an abstract class: public abstract class API {

B. Change Line 2 access modifier to protected: protected void checkValue(Object value) throws
lllegalArgumentException;

C. Change Line 1 to a class: public class API {
D. Change Line 1 to extend java.lang.AutoCloseable: public interface API extends AutoCloseable {

E. Change Line 2 to an abstract method: public abstract void checkValue(Object value) throws
lllegalArgumentException;

Correct Answer: CE

QUESTION 5

Given:
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package a;
public abstract class Animal {
protected abstract void walk():

}
package b;

public abstract class Human extends Animal ({
// line 1

}

Which two lines inserted in line 1 will allow this code to compile? (Choose two.)
A. protected void walk(){}

B. void walk(){}

C. abstract void walk();

D. private void walk(){}

E. public abstract void walk();

Correct Answer: AB
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